
期望值 

E(𝑥1̅̅̅ − 𝑥2̅̅ ̅) = 𝐸(𝑥1̅̅̅) − 𝐸(𝑥2̅̅ ̅) = 𝜇1 − 𝜇2 

 

變異數 

Var(𝑥1̅̅̅ − 𝑥2̅̅ ̅) =  E{[(𝑥1̅̅̅ − 𝑥2̅̅ ̅) − (𝜇1 − 𝜇2)]2} = 𝐸{[(𝑥1̅̅̅ − 𝜇1) + (𝑥2̅̅ ̅ − 𝜇2)]2}

= 𝐸[(𝑥1̅̅̅ − 𝜇1)2 + (𝑥2̅̅ ̅ − 𝜇2)2 + 2(𝑥1̅̅̅ − 𝜇1)(𝑥2̅̅ ̅ − 𝜇2)]

= 𝐸[(𝑥1̅̅̅ − 𝜇1)2 + (𝑥2̅̅ ̅ − 𝜇2)2 + 0]

= 𝐸 [(
𝑥11 + 𝑥12 + ⋯ + 𝑥1𝑛

𝑛1
− 𝜇1)

2

+ (
𝑥21 + 𝑥22 + ⋯ + 𝑥2𝑛

𝑛2
− 𝜇2)

2

]

=
1

𝑛1
2 𝐸[(𝑥11 + 𝑥12 + ⋯ + 𝑥1𝑛) − 𝑛𝜇1)2]

+
1

𝑛2
2 𝐸[(𝑥21 + 𝑥22 + ⋯ + 𝑥2𝑛) − 𝑛𝜇2)2]

=
1

𝑛1
2

{𝐸[(𝑥11 − 𝜇1)2] + 𝐸[(𝑥12 − 𝜇1)2] + ⋯ + 𝐸[(𝑥1𝑛 − 𝜇1)2]}

+
1

𝑛2
2

{𝐸[(𝑥21 − 𝜇1)2] + 𝐸[(𝑥22 − 𝜇1)2] + ⋯ + 𝐸[(𝑥2𝑛 − 𝜇1)2]}

=
1

𝑛1
2 ∙ 𝑛1𝜎1

2 +
1

𝑛2
2 ∙ 𝑛2𝜎2

2 =
𝜎1

2

𝑛1
+

𝜎2
2

𝑛2
 

 

 

 

因此， Std(𝑥1̅̅̅ − 𝑥2̅̅ ̅) = √
𝜎1

2

𝑛1
+

𝜎2
2

𝑛2
 

 


